
Post Learning Assessment  
Addition Year 5  

 
1) Add 299 and 344    

 
 
 
 
 
 
 
 

2)  What is the total of  21, 84 and 16?  
 
 
 
 
 
 
 

 
 

3) 250 + 110+ 330 =  
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 



4) Complete the sum:  

 
 

5)          =  4589 + 5678  
 

 
 
 
 
 
 

          

          

          

          
 

          

          

          

          

+ 
3 9 7 8      

 1 0 2 0      

          

          
 

           

 



 
6) Find the total of 10928, 2364 and 112371.  

 

 
 

7) Grayson bought the following items in a shop. How much did he 
spend altogether?   
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

          

          

          

          

          

          
 

£20.00 £4.45 £107.99 

 



 
 
 
8)  Work out the answer to this sum:  

 
 
        +        =  
 
 
 
 
 
 
 

9)Fill in the missing boxes:  
 
7         5   8 
 

+         2             
                  

8   1   8 0 
 

 
10) A football stadium hosted 2 events over a weekend. 78981 
people attended a charity concert on the Saturday. On the Sunday, 
83898 people attended a football match. Approximately, how many 
people visited the stadium over the weekend in total?   
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 15.282 

 

0.09 
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